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A2 () FH-TFHATIRET gt

Note : There are THREE sections in the paper A, B and C.

(ii) QFIT-T 3 F97 GGIT 1 & @Y1 10 97771 & SR T | T2 977 T 37 %7 &
vg &1 10 977 TGI8 FFR F G971 & & |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) Q-1 F 8 F971 7 8 f55T 6 F971 & I T | TAF 597 3 3% T & vq
F7HT 5 ET / 50 VIl 5 IR 1w |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) TN~ 3 6 3971 4 @ o581 4 Fo7) & I DTT | FF F97 8 375 T & v
STHT15 &7 / 150 WG] 4 3o dforw |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) FF QFT F U T H] FHIR TF G1e FFT FHT |
Solve all the questions of a section consecutively together.

(vi) T 9TSTS 8 37 517 B Rt 7 37 sigare & "= 8

Only English version is valid in case of difference in both the languages.

YA - T
, ' Sectjon —-A
I () U UaEA & gl I T ert afet & e 6 gt shaerd! 2
(a) <EIeE (b) =
(c) dTE =eTs (d) uffr 3Fere
The distance between wheels mounted on both ends of an axle is called
(a) Wheel base (b) Wheel track
(¢) Vehicle width (d) Ground clearance

% (1 0f4) P.T.O.
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(i) T T I8 HI S U TAg b A1 Treh H 18 L Iordl &

(a) T AR (b) de
(c) 3 h WA (4 d5s
The part of tyre which moves in contact with road surface is
(a) Side wall (b) Bead
(c) Inner liner (d) Tread
(i) Repet o1 waNT f 4 & fore a6 T feRT ST B 2
(a) Fusel HuH (b) IR FHAT
(c) USTTE (d) & UIER HHH!
With which of the following springs, shackle is used ?
(a) Coil spring (b) Leaf spring
(c) Torsion bar (d) Helper leaf spring
(iv) 359 % TT9C dTed s ford T 8
(a) YUUS N (b) émsrrqz‘gm
(c) TRt 3TH grI (d) area f&m gra
The poppet valves of engine are closed by
(a) Pushrod (b) Camshaft
(c) Rocker arm (d) Valve springs
(v) afe TH 4-Trh U Asfenet % 39 H HH-Tiiehe W 28 S Bl Al 35 sheb Bilehe
T o g & 7
(a 7 (b)y 14
(e). 28 (d) 56

If there are 28 teeth on cam sprocket of 4-stroke motor cycle engine, then how
many teeth will be on it’s crank sprocket ?

(a) s 7 (b)y 14
(c) 28 (d) 56
(vi) T80 S a1 oo e HT AT A |
(a) Ercfm uered (b) U3 pueeh FHAT
(c) Wider e (d) TEwE
Which one of the following is not a part of clutch plate ?
(a) Friction material (b) Torsional coil spring
(c) Splined hub (d)  Pressure plate
(vii) T 5 3 Fore o o TR st o fieR sreetd THe ge-te i wwrarT gedl 31Res 2 7
(a) T3S HY FHR (b) R T TR
(c) fasn! o991 wehR (d) TEETRTd TRYYT JehT

In which of the following gear box, the chances of wear and tear are maximum
while changing gears ?

(a) Sliding mesh type (b) Constant mesh type

(¢) Synchro mesh type (d) Automatic transmission type
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(viii) 3 x 2 aTe | fopan fethismer gim 2
(@ 0 (b) 1
(c) 2 @ 3
How many differential/s will be in 3 x 2 vehicle ?
(a O (b) 1
(© 2 (d 3
(ix) F s yorredt et 1 @ fopd foram o amenf@ 2 2
(a) FIAFTasfgfafmmw () =S i e w
(c) UTEhdt o @ W (d) HURH M
Hydraulic Braking system is based on which of the following law ?
(a) Newton’s second law of motion (b) Newton’s third law of motion
(c) Pascal’s law (d) Faraday’s law
(x) 9T W are | e | 9 ford g o1 St R ste g feem men 2 ¢
(a) & 9 fufam yer (b) oG A THR
(¢c) AT ARIBR (d) Y= Meht 9 9 YhR
Generally which of the following steering gear box is used in heavy vehicles ?
(a) Rack and pinion type (b) Worm and wheel type
(¢) Cam and lever type (d) Recirculating ball and Nut type (1x10)
Qe — ot
Section — B
2. Ueh YNHITeh dTe W %A o RITHE B 8 7
What are the functions of frame in a conventional vehicle ? A3)
3. 175/65 R14 82T i fafdw i wmems |
Explain 175/65 R14 82T tyre specification. 3
4. & <ht fretr yumeft & memed w1 ffEn |
Write basic functions of suspension system of vehicle. A3)
5. foevet oeR & =t gy gl b wHesT |
Explain any two main defects of cylinder liner. 3)

6. UTEINEh 4 x 2 978 § firer ofem & it fefau |

Write the functions of gear box in conventional 4 x 2 vehicle. A3

7. 374 TEHH 9T A =TS WiadH s Teee § R 3T ET R 7

What is the difference between semi floating and three quarter floating rear axle ? 3)

P.T.O.
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8.

10.

11.

12.

13

14.

I5:

T dTe | SfehTT YOIt &1 97 9T BT R 7

What is the purpose of braking system in a vehicle ? 3

gt firr. srguma w1 afenfya FINT | gess qun aih aret o see T o fha
BIAIE ?

Define Steering gear ratio. What is it’s approximate value in li ght and heavy vehicles ? (3)

A — &t
Section — C
() 3 S5 wve ufed Ao UReies aTed 1 OROT YUttt w1 iR ferg R

SIS |

Draw labelled layout diagram of transmission system of front engine rear wheel

drive conventional vehicle. )
(i) IS 911 TR Y goT 8 e e err 3 @y frfau |
Write the advantages of tubeless tyres as compared to tubed tyres. “)

SEEnIfh vieh oA & F1Y, HTEHT AT RISt i Fer < wErrar & gHeg |
Explain function, construction and working of telescopic shock absorber with the
help of sketch. t))

mﬁnmﬁ%m@wﬁmmmaﬁmwmmﬁ%ﬂﬁ
TETIAT ¥ 9UeTEy |

Explain any one type of valve operating mechanism of internal combustion engine
with the help of sketch. 'ty

mﬁ%ﬁﬁwaﬁm,maﬁnaﬁmﬁﬁ%ﬁaﬁm@wl

Explain necessity, construction and working of differential in vehicle. ¢))

memﬁmaﬁmwmﬁamﬁamwmﬁﬁm
61 HRIUTSA 7 Tfes guig Hif |

Draw labelled layout diagram of hydraulic braking system of a four wheel vehicle
and describe the working of master cylinder with sketch. 3

haWwﬁmmﬁmaWwaﬁaww |

Describe construction and working of rack and pinion type steering system with
sketch. (8)




